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QUESTION NO: 1

Which two are key requirements for fault tolerance?

A. Document SPOF and Fault Elimination

B. Fault Isolation and Eliminate SPOF

C. Network Isolation and Eliminate SPOF

D. RAID Storage and Fault Isolation

ANSWER: B 

QUESTION NO: 2

What is true about change management?

A. Defines SLA compliance

B. Triggers alerts

C. Monitors compliance

ANSWER: C 

QUESTION NO: 3

What term refers to the entry points from which an attack can be launched?

A. Attack surface

B. Attack factor

C. Attack vector

ANSWER: A 

QUESTION NO: 4

Which compute system component contains boot firmware?

A. Operating System

B. Hard Disk Drive
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C. Read Only Memory

D. Random Access Memory

ANSWER: C 

QUESTION NO: 5

A consumer is interested in a service that provides multiple operating systems and programming frameworks for application 
development and deployment.

Which cloud service model meets these requirements?

A. Storage as a Service

B. Platform as a Service

C. Software as a Service

D. Data as a Service

ANSWER: A 

QUESTION NO: 6

An organization requires double the processing capacity for a specific duration to handle increased workload. For the 
remaining period, the organization might want to release the idle resources to save costs. The workload variations may be 
seasonal or transient.

Which cloud characteristic enables the consumer to handle such variations in workloads and IT resource requirements?

A. Resource pooling

B. On-demand self-service

C. Rapid elasticity

ANSWER: C 

QUESTION NO: 7 - (DRAG DROP)

What is the correct sequence of steps in the service catalog design and implementation process?
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ANSWER:

Explanation:

1. Create service definition

2. Define service request

3. Define fulfillment process

4. Publish service

QUESTION NO: 8

What is a responsibility of the Service Manager role?

A. Understanding consumers’ needs and industry trends to drive an effective product strategy

B. Coordinating with the architecture team to define technology road maps

C. Provide architectural oversight over individual domains

D. Designing, planning, managing, maintaining, and supporting the cloud infrastructure

ANSWER: A 

QUESTION NO: 9

What is a benefit of data archiving?
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A. Increases deduplication ratio and reduces storage costs

B. Avoids performing data backups frequently

C. Preserves data for future reference and adherence to regulatory compliance

D. Moves frequently accessed data to lower-cost archive storage

ANSWER: C 

QUESTION NO: 10

What enables resource pooling and multi-tenancy in a cloud environment?

A. Rapid elasticity

B. On-demand provisioning

C. Scalability

D. Virtualization

ANSWER: D 
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